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L= 29.2(cm)
Hl= 14.8(cm)
H2= 74.1(cm)

T 35 D =32.075(cm)

cosf = +/12 — H,%/L=0.862035
tan® = H,?/y/1? — H,?=0.587969

o L T iR AR 4 1 = 0.3390
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L= 29.2(cm)
Hl= 14.8(cm)
H2= 74.1(cm)

T 32D =13]1.375(cm)

cosf = /12 — H,%/L=0.862035
tan® = H,?/y/1? — H,?=0.587969

Rox VL T R B Al = 0.3515
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L= 30.40(cm)
Hl= 15.35(cm)
Ho= 74.90(cm)

T 35D = 32.325(cm)

cosf = /12 — H,*/L=0.863158
tan® = H,* /L2 — H;*=0.584985

Ron N T R AR %l 1 = 0.3463
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I= 30.40(cm)
Hi= 15.35(cm)
Ho= 74.90(cm)
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TiaD= 31.450(cm)

cosf = /12 — H,*/L=0.863158
tan® = H,* /L2 — H;*=0.584985

o UL T R A i 1 =0.3611
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